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(C)H)1. 5x(x+3)=(A)5x+3 (B) 5x+8 (C)5x+15

( B)2.5x—4—3x+1=A)2x—5B)2x—3  (C)x—2

( B ) 3. FAIFRIEAKT, BREZEETAN 2 (A) (a+b)(c+d)=ac+ad+bc+bd (B) (a+b)}?=d*+b*
(C)(a+b)a—b)=d>*—b>

( C )4 THIBE R ZIH 2 (A) (B)|x+5| (C) x*

(A)5 (Gx+H32+D)+P+Tx+5)=(A) 4>+ 12x+6 (B) 6x*+10x+6 (C) 3x*+12x+6

(C)6. (T—x)—(x—4x*+6)=(A) —4x— x¥*—2x+1(B) —4X°— ¥*—2x+13  (C) 4’ — x¥*—2x+1

( B)7. 3x(xt2)=(A) 3x*+2(B) 3x*+6x (C) 3x*+6

( C)H8 Bxt1)(x+4)=(A)3x*+7x+5B)x¥*+13x+5 (C)3 x*+13x+4

( C)9. 47+ 8x—2brLIxiER=, (A)4 (B)8  (C) —2

( A)10.2x*—x—6)~(x—2)=(A)2x+3 (B)x+3 (C)x+6

( BHI(*=(A) (B)7 (©)14

( A)H12. &Rk, | BIRNETR. (A) ( (@B) ) )

( B )13, FIHAEHE 2GR HAIE. (A)22 (B) 24 (C)26

( C)H14. 2389 A(A) (B) — (O)+

( CHIS. 1B EFR AT 2 (A)1 (B) —1  (C) =1

( B )l6. FIH TG BT %, & HPESGT A . (LAY B ESRE/NBCERR 55 2400)

N N>

26 676 5.099 020 16.12452

27 729 5.196 152 16.43168

28 784 5.291 503 16.73320
(A)5.19 (B)5.20 (C)5.196

(A) 178 —5282x— 11 ESR, RxiE(A)13 (B)11(C)10
( C )18. 561 1E - J5 AR WOAE A AWk phy (i AE 2 [ 2 (A)S~6 B)6+~7  (C)7~8

(A9, (—3p2= (A)—6V30 (B)6V30 () —3+30

( A )20.+=(A) B)7 (C)l4
( B )21.2+3=(A)4(B)5 (C) 6

( B )22. a0 FlEl, =AABCA—EME =M, B ==132A%7,

TEADEL, H=51%r, =2 (A)8 (B)I2 (O)10
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( B )23, EAMEm EHAR, —3). B, 5)fE, Hl=(A) V55 (B) V65 (@ V75

( A )24, 2x+3-AR 62+ 5x—6IIRE(A) & (B) R

( C )25. A5 +34x — TR R MR (5x— D(x+m), HimZAZ /4 (A)1 (B)4 (C)7

( A )26. THIZEA S, BEZGx+ 1)>FGx+ Dx+5BAKR A 2 (A) 3x+1 (B)x+5 (C) Bx+1)(x+5)
( C )27.16x*+12x =(A)16x(x+12) (B)4x(4x+12) (C) 4x(4x+3)

( B )28 AP I5 228 A 2 fi#ox* —25= (A) (Ox—5)(9x+5) (B) Bx—5)(3x+5) (C) Bx—35)°

( A 29 FHIFIEYPI5 22 sUA A3 i+ 6x + 9= (A) (x+3)* B) (x+9)* (C) (x+1)(x+9)

( B) 30. FIHZEMFE T ARRR SR —120+36= (A) (x—3)> (B) (x—6)> (©) x—12)°

( C )31 AR +3x+2= (A) (x + 1)(x+3) (B) Bx+ D)(x+2) (C) (x+1)(x+2)

( A )32, RS —Tx+10=(A) (x—2)(x—5) (B) (x—7)(x+2) (C) (x—1)(x—10)

( B )33 FAIME—fE &t — R GER, (A)x+3=0 (B)x*+5x=—13(C) 2x>+5x—2=2x+ 1)(x—2)
( B )34. fE—7t _IRA HFERx(x+3)=0, Hlx=(A) 0F13 (B) 0f1—3 (C) 3F1—3

( C )35, fig—t — kTR’ —4x—5=0, Hlx=(A) 1515 (B) If1—5 (C) —1F05

( C )36. R F A% — 0 kot =121, Alx=(A)= V11 B) 11121 ()=l

(A )37 f— 75 TR (r— 37— 23=0, Hlx=(A) 3£ V23 (B) —3£ V23 (GREERE:
( C )38. Thx?+12x+  Ze k& AT B B, A% NcA 22 . =(A)9 (B)12 (C)36

( B )39 fE— 3t TR — 6x=891 (A) x=6+ V8l (B)x=33F1—27 (C)x=3+V23
( A HYA0FIHARMx, sk—7C IR R+ 100+ 1 =01
(A) —5: V24 / B) — 10+ V96 (C) —10+ 24




